

AN ELEMENTARY PROOF OF A HLAWKA TYPE INEQUALITY

FEN WANG

(Communicated by F. Kittaneh)

Abstract. In this paper, we provided an elementary proof of a multiple Hlawka type inequality proved by W. Berndt and S. Sra in [1]. Our proof does not use the tensor product method.

1. Introduction

Positive definite (or positive semi-definite) matrices have similar properties with positive (or nonnegative) numbers, especially about inequalities, see [6, 7, 13, 16]. One of the fundamental inequalities is the following: For any two positive definite matrices with the same size, we have (e.g. [7, p. 511])

$$\det(A + B) \geq \det(A) + \det(B). \quad (1.1)$$

There are many generalizations of (1.1). In 1970, E. V. Haynsworth [4] made the first improvement of (1.1) by using the Schur complement method. Soon after that, D. J. Hartfiel [3] obtained a quantitative improvement of Haynsworth's result. He proved

THEOREM 1.1. [3] *Let A, B be positive definite $n \times n$ matrices. Then*

$$\det(A + B) \geq \det(A) + \det(B) + (2^n - 2) \sqrt{\det(AB)}. \quad (1.2)$$

In 2014, M. Lin [10] generalized (1.1) to three positive definite matrices.

THEOREM 1.2. [10, Theorem 1.1] *Let A, B, C be positive definite $n \times n$ matrices. Then*

$$\begin{aligned} & \det(A + B + C) + \det(A) + \det(B) + \det(C) \\ & \geq \det(A + B) + \det(B + C) + \det(A + C). \end{aligned} \quad (1.3)$$

Recently, Y. Hong and F. Qi [5] obtained a sharper lower bound for Theorem 1.2, which is also a generalization of Theorem 1.1.

Mathematics subject classification (2020): 15A45, 15A60.

Keywords and phrases: Hlawka inequality, Popoviciu inequality, positive definite matrix.

The author was supported by the Foundation of Hubei Provincial Department of Education (No. Q20233003), the Scientific Research Fund of Hubei Provincial Department of Education (No. B2022207) and Hubei University of Education, Bigdata Modeling and Intelligent Computing Research Institute.

THEOREM 1.3. [5, Theorem 3] *Let A, B, C be positive definite $n \times n$ matrices. Then*

$$\begin{aligned} & \det(A + B + C) + \det(A) + \det(B) + \det(C) \\ & \geq \det(A + B) + \det(B + C) + \det(A + C) + (3^n + 3 - 3 \cdot 2^n) [\det(ABC)]^{\frac{1}{3}}. \end{aligned} \tag{1.4}$$

Please see [2, 8, 11, 12] for other forms of generalization about (1.1)–(1.4).

By using tensor product, W. Berndt and S. Sra [1] extended (1.1) and (1.3) to multiple version, which is called the Hlawka type inequality.

THEOREM 1.4. [1, Conjecture 3.1 and Corollary 3.4] *Let A_1, A_2, \dots, A_m be positive definite $n \times n$ matrices. For each $k = 1, 2, \dots, m$, define*

$$s_k(A_1, A_2, \dots, A_m) := \sum_{1 \leq i_1 < i_2 < \dots < i_k \leq m} \det(A_{i_1} + A_{i_2} + \dots + A_{i_k}).$$

Then

$$\sum_{k=1}^m (-1)^{m-k} s_k(A_1, A_2, \dots, A_m) \geq 0. \tag{1.5}$$

At the same time, W. Berndt and S. Sra [1] also got another generalization to multiple version, which is called the Popoviciu type inequality.

THEOREM 1.5. [1, Theorem 4.3] *Let A_1, A_2, \dots, A_m ($m \geq 3$) be positive definite $n \times n$ matrices. Then*

$$\det\left(\sum_{j=1}^m A_j\right) + (m-2) \sum_{j=1}^m \det(A_j) \geq \sum_{1 \leq i < j \leq m} \det(A_i + A_j). \tag{1.6}$$

More recently, we [14] proved a quantitative improvement of Theorem 1.5 in the following form.

THEOREM 1.6. [14, Theorem 7] *Let A_1, A_2, \dots, A_m ($m \geq 3$) be positive definite $n \times n$ matrices. Then*

$$\begin{aligned} & \det\left(\sum_{j=1}^m A_j\right) + (m-2) \sum_{j=1}^m \det(A_j) \\ & \geq \sum_{1 \leq i < j \leq m} \det(A_i + A_j) + [(m^n - m - (2^{n-1} - 1)(m-1)m)] [\det(A_1 A_2 \dots A_m)]^{\frac{1}{m}}. \end{aligned} \tag{1.7}$$

We also revisited Theorem 1.6 and got an improvement for $m = 4$.

THEOREM 1.7. [15, Theorem 1.5] *Let A_1, A_2, A_3, A_4 be positive definite $n \times n$ matrices. Then*

$$\begin{aligned} & \det\left(\sum_{j=1}^4 A_j\right) + 2 \sum_{j=1}^4 \det(A_j) - \sum_{1 \leq i < j \leq 4} \det(A_i + A_j) \\ & \geq (3^n - 3 \cdot 2^n + 3) \left[(\det(A_1 A_2 A_3))^{\frac{1}{3}} + (\det(A_1 A_2 A_4))^{\frac{1}{3}} \right. \\ & \quad \left. + (\det(A_1 A_3 A_4))^{\frac{1}{3}} + (\det(A_2 A_3 A_4))^{\frac{1}{3}} \right] \\ & \quad + (4^n - 4 \cdot 3^n + 3 \cdot 2^{n+1} - 4) (\det(A_1 A_2 A_3 A_4))^{\frac{1}{4}}. \end{aligned} \tag{1.8}$$

To generalize Theorem 1.1 and Theorem 1.3, we propose the following conjecture.

CONJECTURE 1.8. *Let A_1, A_2, \dots, A_m be positive definite $n \times n$ matrices. For each $k = 1, 2, \dots, m$, define*

$$s_k(A_1, A_2, \dots, A_m) := \sum_{1 \leq i_1 < i_2 < \dots < i_k \leq m} \det(A_{i_1} + A_{i_2} + \dots + A_{i_k}).$$

Then

$$\sum_{k=1}^m (-1)^{m-k} s_k(A_1, A_2, \dots, A_m) \geq \left(\sum_{k=1}^m (-1)^{m-k} C_m^k k^n \right) [\det(A_1 A_2 \dots A_m)]^{\frac{1}{m}}, \tag{1.9}$$

where $C_m^k = \frac{m!}{(m-k)!k!}$.

REMARK 1.9. It is easy to check that (1.9) reduces to (1.2) when $m = 2$ and to (1.4) when $m = 3$.

The main goal of this paper is to give an elementary proof of Theorem 1.4.

2. An elementary proof of Theorem 1.4

Firstly, we establish several lemmas needed in the proof of Theorem 1.4.

LEMMA 2.1. *Let B be an $n \times n$ matrix. For $j = 1, 2, \dots, n$, let B_j be the submatrix of B by deleting the j -th row and j -th column. Then*

$$\frac{d}{dt} [\det(B + tI_n)] = \sum_{j=1}^n \det(B_j + tI_{n-1}).$$

Proof. Let $B + tI_n = (b_1(t), b_2(t), \dots, b_n(t))$ and $e_1 = (1, 0, \dots, 0)^T$, $e_2 = (0, 1, \dots, 0)^T, \dots, e_n = (0, 0, \dots, 1)^T$, then by the product rule of multilinear functions (e.g. [9, p. 125]), we have

$$\begin{aligned}
 \frac{d}{dt} [\det(B + tI_n)] &= \frac{d}{dt} [\det((b_1(t), b_2(t), \dots, b_n(t)))] \\
 &= \sum_{j=1}^n \det((b_1(t), b_2(t), \dots, b'_j(t), \dots, b_n(t))) \\
 &= \sum_{j=1}^n \det((b_1(t), b_2(t), \dots, e_j, \dots, b_n(t))) \\
 &= \sum_{j=1}^n \det(B_j + tI_{n-1}). \quad \square
 \end{aligned}$$

LEMMA 2.2. For any positive integer m , we have

$$\sum_{k=1}^m (-1)^{m-k} k C_m^k = 0.$$

Proof. By the definition of the combinatorial number, we have

$$\begin{aligned}
 \sum_{k=1}^m (-1)^{m-k} k C_m^k &= \sum_{k=1}^m (-1)^{m-k} k \frac{m!}{(m-k)!k!} \\
 &= m \sum_{k=1}^m (-1)^{m-k} \frac{(m-1)!}{[(m-1)-(k-1)]!(k-1)!} \\
 &= m \sum_{k=1}^m (-1)^{m-k} C_{m-1}^{k-1} \\
 &= m \sum_{k=0}^{m-1} (-1)^{m-1-k} C_{m-1}^k.
 \end{aligned}$$

Moreover, by Binomial Theorem, we get

$$\sum_{k=0}^{m-1} (-1)^{m-1-k} C_{m-1}^k = [1 + (-1)]^{m-1} = 0. \quad \square$$

Now we are in a position to prove Theorem 1.4.

Proof of Theorem 1.4. The proof of Theorem 1.4 is by induction on m and n .
 Step 1:

- For $m = 2$ and any n , it follows from the fundamental inequality (1.1).
- For $n = 1$ and any positive integer m , we have

$$\begin{aligned}
 \sum_{k=1}^m (-1)^{m-k} s_k(A_1, A_2, \dots, A_m) &= \sum_{k=1}^m (-1)^{m-k} \frac{k C_m^k}{m} (A_1 + A_2 + \dots + A_m) \\
 &= \frac{A_1 + A_2 + \dots + A_m}{m} \cdot \sum_{k=1}^m (-1)^{m-k} \frac{k C_m^k}{m} \\
 &= 0,
 \end{aligned}$$

where the last step follows from Lemma 2.2.

Step 2: Suppose that the inequality holds for $m, n - 1$ and $m + 1, n - 1$. Now, suppose A_1, A_2, \dots, A_{m+1} are positive definite $n \times n$ matrices. First, notice

$$\begin{aligned} & \left[\sum_{k=1}^{m+1} (-1)^{m+1-k} s_k(A_1, A_2, \dots, A_{m+1}) \right] \cdot \det(A_{m+1}^{-1}) \\ &= \sum_{k=1}^{m+1} (-1)^{m+1-k} [s_k(A_1, A_2, \dots, A_{m+1}) \cdot \det(A_{m+1}^{-1})] \\ &= \sum_{k=1}^{m+1} (-1)^{m+1-k} s_k(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m, I_n), \end{aligned}$$

where $\widehat{A}_i = A_{m+1}^{-\frac{1}{2}} A_i A_{m+1}^{-\frac{1}{2}}$ for $1 \leq i \leq m$. Next, for any $t \in [0, +\infty)$ define

$$\varphi(t) = \sum_{k=1}^{m+1} (-1)^{m+1-k} s_k(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m, t \cdot I_n),$$

then we only need to prove $\varphi(1) \geq 0$. In fact, by the definition of s_k , we have

$$\begin{aligned} \varphi(0) &= \sum_{k=1}^{m+1} (-1)^{m+1-k} s_k(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m, O_n) \\ &= s_{m+1}(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m, O_n) \\ &\quad + \sum_{k=2}^m (-1)^{m+1-k} s_k(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m, O_n) \\ &\quad + (-1)^m s_1(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m, O_n) \\ &= s_m(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m) \\ &\quad + \sum_{k=2}^m (-1)^{m+1-k} [s_k(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m) + s_{k-1}(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m)] \\ &\quad + (-1)^m s_1(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m) \\ &= 0. \end{aligned}$$

CLAIM. For any $t \geq 0$, we have $\varphi'(t) \geq 0$.
Then φ is increasing on $[0, +\infty)$. So

$$\varphi(1) \geq \varphi(0) = 0,$$

the proof of the theorem is completed if the claim is true. \square

Here is the proof of the claim:

Proof of the Claim. Let $\widehat{A}_{i,j}(1 \leq i \leq m)$ be the submatrix of \widehat{A}_i by deleting the j -th row and j -th column. In order to compute $\varphi'(t)$, we consider the following three cases.

- *Case 1:* $k = 1$.

$$\begin{aligned}
 & \left[s_1 \left(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m, t \cdot I_n \right) \right]' \\
 &= \left[\sum_{i=1}^m \det \left(\widehat{A}_i \right) + \det \left(t \cdot I_n \right) \right]' \\
 &= \left[\det \left(t \cdot I_n \right) \right]' \tag{2.1} \\
 &= \sum_{j=1}^n \det \left(t \cdot I_{n-1} \right) \quad (\text{by Lemma 2.1}) \\
 &= \sum_{j=1}^n \left[s_1 \left(\widehat{A}_{1,j}, \widehat{A}_{2,j}, \dots, \widehat{A}_{m,j}, t \cdot I_{n-1} \right) - s_1 \left(\widehat{A}_{1,j}, \widehat{A}_{2,j}, \dots, \widehat{A}_{m,j} \right) \right].
 \end{aligned}$$

- *Case 2:* $2 \leq k \leq m$. Since

$$\begin{aligned}
 & s_k \left(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m, t \cdot I_n \right) \\
 &= \sum_{1 \leq i_1 < i_2 < \dots < i_k \leq m} \det \left(\widehat{A}_{i_1} + \widehat{A}_{i_2} + \dots + \widehat{A}_{i_k} \right) \\
 &+ \sum_{1 \leq i_1 < i_2 < \dots < i_{k-1} \leq m} \det \left(\widehat{A}_{i_1} + \widehat{A}_{i_2} + \dots + \widehat{A}_{i_{k-1}} + t \cdot I_n \right),
 \end{aligned}$$

by Lemma 2.1, we have

$$\begin{aligned}
 & \left[s_k \left(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m, t \cdot I_n \right) \right]' \\
 &= \sum_{1 \leq i_1 < i_2 < \dots < i_{k-1} \leq m} \left[\det \left(\widehat{A}_{i_1} + \widehat{A}_{i_2} + \dots + \widehat{A}_{i_{k-1}} + t \cdot I_n \right) \right]' \\
 &= \sum_{1 \leq i_1 < i_2 < \dots < i_{k-1} \leq m} \sum_{j=1}^n \det \left(\widehat{A}_{i_1,j} + \widehat{A}_{i_2,j} + \dots + \widehat{A}_{i_{k-1},j} + t \cdot I_{n-1} \right) \tag{2.2} \\
 &= \sum_{j=1}^n \sum_{1 \leq i_1 < i_2 < \dots < i_{k-1} \leq m} \det \left(\widehat{A}_{i_1,j} + \widehat{A}_{i_2,j} + \dots + \widehat{A}_{i_{k-1},j} + t \cdot I_{n-1} \right) \\
 &= \sum_{j=1}^n \left[s_k \left(\widehat{A}_{1,j}, \widehat{A}_{2,j}, \dots, \widehat{A}_{m,j}, t \cdot I_{n-1} \right) - s_k \left(\widehat{A}_{1,j}, \widehat{A}_{2,j}, \dots, \widehat{A}_{m,j} \right) \right].
 \end{aligned}$$

- Case 3: $k = m + 1$.

$$\begin{aligned}
 \left[s_{m+1} \left(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m, t \cdot I_n \right) \right]' &= \left[\det \left(\widehat{A}_1 + \widehat{A}_2 + \dots + \widehat{A}_m + t \cdot I_n \right) \right]' \\
 &= \sum_{j=1}^n \det \left(\widehat{A}_{1,j} + \widehat{A}_{2,j} + \dots + \widehat{A}_{m,j} + t \cdot I_{n-1} \right) \\
 &= \sum_{j=1}^n s_{m+1} \left(\widehat{A}_{1,j}, \widehat{A}_{2,j}, \dots, \widehat{A}_{m,j}, t \cdot I_{n-1} \right).
 \end{aligned} \tag{2.3}$$

Now, from (2.1)–(2.3) and Lemma 2.1, we get

$$\begin{aligned}
 \varphi'(t) &= \sum_{k=1}^{m+1} (-1)^{m+1-k} \left[s_k \left(\widehat{A}_1, \widehat{A}_2, \dots, \widehat{A}_m, t \cdot I_n \right) \right]' \\
 &= \sum_{j=1}^n s_{m+1} \left(\widehat{A}_{1,j}, \widehat{A}_{2,j}, \dots, \widehat{A}_{m,j}, t \cdot I_{n-1} \right) \\
 &\quad + \sum_{j=1}^n \sum_{k=1}^m (-1)^{m+1-k} \left[s_k \left(\widehat{A}_{1,j}, \widehat{A}_{2,j}, \dots, \widehat{A}_{m,j}, t \cdot I_{n-1} \right) - s_k \left(\widehat{A}_{1,j}, \widehat{A}_{2,j}, \dots, \widehat{A}_{m,j} \right) \right] \\
 &= \sum_{j=1}^n \left[\sum_{k=1}^{m+1} (-1)^{m+1-k} s_k \left(\widehat{A}_{1,j}, \widehat{A}_{2,j}, \dots, \widehat{A}_{m,j}, t \cdot I_{n-1} \right) \right. \\
 &\quad \left. + \sum_{k=1}^m (-1)^{m-k} s_k \left(\widehat{A}_{1,j}, \widehat{A}_{2,j}, \dots, \widehat{A}_{m,j} \right) \right] \\
 &\geq 0,
 \end{aligned}$$

where the inequality follows from the assumption of induction. The proof is finished. \square

Acknowledgements. The author is grateful to the referees for careful reading and valuable comments.

REFERENCES

- [1] W. BERNDT AND S. SRA, *Hlawka-Popoviciu inequalities on positive definite tensors*, Linear Algebra and its Applications **486** (2015), 317–327.
- [2] S. DONG AND Q. W. WANG, *More generations of Hartfiel's inequality and the Brunn-Minkowski inequality*, Bullition of the Iranian Mathematical Society **47** (2021), 21–29.
- [3] D. J. HARTFIEL, *An extension of Haynsworth's determinant inequality*, Proc. Amer. Math. Soc. **41** (1973), 463–465.
- [4] E. V. HAYNSWORTH, *Applications of an inequality for the Schur complement*, Proc. Amer. Math. Soc. **24** (1970), 512–516.
- [5] Y. HONG AND F. QI, *Refinements of two determinantal inequalities for positive semidefinite matrices*, Math. Inequal. Appl. **25** (2022), no. 3, 673–678.
- [6] R. A. HORN AND C. R. JOHNSON, *Topics in Matrix Analysis*, Cambridge University Press, 1991.

- [7] R. A. HORN AND C. R. JOHNSON, *Matrix Analysis*, Cambridge University Press, 2nd ed. 2013.
- [8] L. HOU AND S. DONG, *An extension of Hartfiel's determinant inequality*, *Math. Inequal. Appl.* **21** (2018), no. 4, 1105–1110.
- [9] PETER D. LAX, *Linear algebra and its applications*, second edition, Pure Appl. Math., Wiley-Interscience, Hoboken, NJ, 2007.
- [10] M. LIN, *A determinantal inequality for positive definite matrices*, *Electron J. Linear Algebra* **27**, 1 (2014), 821–826.
- [11] M. LIN, *Extensions of a result of Haynworth and Hartfiel*, *Arch. Math.*, **104** (2015), 93–100.
- [12] Y. MAO, *Extensions of Hartfiel's inequality to multiple matrices*, *Linear Algebra and its Applications* **486** (2020), 96–102.
- [13] A. W. MARSHALL, I. OLKIN, AND B. C. ARNOLD, *Inequalities: theory of majorization and its applications*, second edition, Springer Series in Statistics, Springer, New York, 2011.
- [14] F. WANG, *A quantitative Popoviciu type inequality*, *Math. Inequal. Appl.*, **27** (2024), no. 1, 149–158.
- [15] F. WANG, *A quantitative Popoviciu type inequality for four positive semi-definite matrices*, *Linear and Multilinear Algebra*, 2023, [doi:10.1080/03081087.2023.2259578](https://doi.org/10.1080/03081087.2023.2259578).
- [16] F. ZHANG, *Matrix Theory: Basic result and techniques*, second edition, Springer, New York, 2011.

(Received February 16, 2024)

Fen Wang
Hubei University of Education
School of Mathematics and Statistics
430205, Wuhan, P.R. China
e-mail: wangfen1@hue.edu.cn